;u Azimuth

Figure

8E

TABLE OF AZIMUTHS, INVERSE FIELDS AND SOIL CONDUCTIVITIES

WKIP - Poughkeepsie, NY
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Meas:

Meas:
Meas:

M-3:
M-3:
M-3:
M-3:
M-3:
M-3:
M-3:

1450 kHz; 1 kW, DA-D, U

4 - 28.8 km, 1 - 78.2 km, 5000 - 100.6 km

Soil-Conductivity (mS/m)

0.5 - 127.3 km, 5000 - Remainder
4 - 32.5 km, 1 - 80.6 km, 5000 - 96.1 km, 0.5 - 124.9 km,
5000 - Remainder
4 - 85.9 km, 5000 - 96.4 km, 4 - 103.0 km,
0.5 - 123.1 km, 5000 - Remainder
101.7 km, 5000 - 104.0 km, 4 - 108.6 km,
- 120.7 km, 5000 - Remainder
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Total
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14.0
50.7
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- 77.
- 30.
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Total
Total
Total
Total
Total
Total
Total
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distance

»

km, 2 - 119.1 km, 4 - Remainder
km, 3 - 22.5 km, 2 - 30.0 km, 0.1 - 40.8 km;
km, 2 - 119.2 km, 4 - Remainder

km, 3
km, 2
km, 2.5 -.12.0 km, 1.5 - 34.
5 km; M-3: 2 - 174.6 km, 4
km, 2.5 - 12.0 km, 1.5 - 34.
6 km; M-3: 2 - Remainder

km, 2.5 = 12.0 km, 1.5 - 34.
6 km; M-3: 4 - 205.2 km, 2

22.5 km, 2 - 30.0 km, 0.1 - 40.8 km;
119.9 km, 4 - Remainder

0 kmy, 1 - 70.0 km,
Remainder
g km, 1 = 70.0 km,

0 km, 1 - 70.0 km,
- Remainder

0 km, 0.1 - 46.0 km: M-3: 4 - Remainder
0 km, 0.1 - 46,0 km; M-3: 4 - Remainder

distance
distance
distance
distance
distance
distance

distance

Indicates measured radial; measurements and analysis included with original
application for this proposal at Milford, PA, BENP-200410298HQ. October 2004:
measurements and analysis on file.

Inverse field calculated at 1 kilowatt.

For certain allocations research,

a power output of 250 watts is assumed, in which case the stated inverse field
would be divided by half.




